5
a(d cot(d))

o(0 ¢) (rad)
S

1072 ; sy

0

3 -2 -1 0 1 2 3 =3 -2 -1 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s— DQM_V0001_R000000001__Global__CMSSW_orig

—— DQM_V0001_R000000001__Global__CMSSW_hpt08
—— DQM_V0001_R000000001__Global__CMSSW_hpt05

i BT BN BT B
U | ‘

= =

= o e -

5] (5]

2 =

-~ Y [ e - B
< -

> o 14-1

) =10

= ©

3

107 3y 107

| | : i | 2 : | ! : "

r i i i i i I r i i i i

N N N N N N o N ! ! ||| !

T 0
0

1 2 3 =3 -2 - 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

3 -2 -1

o p/p.)

,_.
<
L

g - hf il i

A it

AT
S

T 0 2 3
TP n (PCA to beamline)




	Contents
	Page 1


